[5S] 6XIA] :

24SX| 2

=X 1/

[2Fe| EXIL7IL?

[+=HE7|] F0| EMLNL?

1.

| = OlO|X[7 24

210] AIAH| AREIO]

2IE{Stlo| o

=T

St
=

=
A O[0F7| Lt==0{FLCt,

AR
(=]

B
Ohl
=<
LY
<
=)
1]
)
OF
w
o
ru
ol
11
.

ﬁ/l.
A
|

(=13
a

si

of ool i

2. [=YET]] FN0| EMLIL?

. = =0l "ohSAlCt

AL

ol =

=
.

o o 7|

BE

ULLR?

S
~1

O] =2C+H o 7[=Z0]

==




? -

Heke| XY

[5S] 6XIA] :

A OHASIRt AR

I[SHRRC] KpMZE XLt
522 = E&0
olAl 2 27|

HAES

OlM Hef &€= AE

=
[=)

2) glE0ILt AY

—
=5
=

3) MXME A tidelols UA22 HAfshk=
A< O ojofX|of] ==5EH HEH HO|




| EME7L? -

[ES] 6XIA| : FEge
2= B= =0 Sefd LE
0| cHE —EI#II*OE s ozio| Hrixioz
TS e b = o1Z29o] £0| £HEUCEH
=AEL =55 EUCL
It HEA S+ EHERULIR?
) QIESl Hof =A S0IM =2 ol0[X|7t EEEHsHA MAIE 7IME St S2t
=2 H E2X| 22 Felsh M= Al

UL o H=0lL HE22 HiHH

(el 7IAR

N[

LHE :

(227t HHEHZ 7IAR

A=




[E




[5S] 6XIA] :

[2Fe| EXIL7IL?

6. [+=¥ OrF2|] SelstX| OMIL.

o)
<
THI

2, ZEO g5

=
=

Ct=2| o|O|X|

1 CLICK IS
2 MANY

1) ® o[ofx|e] elnj= £

A =IE W, ofEA lSsHof

£ 57| ?lol 27t &

HAt

s}

gd=9| O




